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KEY AND MARKING SCALE
PLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.
I- COMPREHENSION (15 POINTYS)
Testees shouldn’t be penalised for spelling or grammar mistakes in the comprehension section.
A. TRUE/FALSE (2 pts, 1pt each: 0.5 pt for the right choice and 0.5 pt for the right justification. Consider the
justification ONLY if the choice is correct)
1. F. The minimum marriage age rose from 14 to 18. / Marriage to a minor requires a judge’s permission.
2. T. She was ill-treated by her husband / her husband has turned into a monster / she was badly treated by her
husband.
B. WH-QUESTIONS : (3 pts : 1 pt each)
1. ...in order to draw the government ...to the pain ...../... for their dignity.
2. She went to the court (and demanded her freedom)
3. ...because she was too young
C. CHART FILLING: (2 pts; 0.5 pt each

Causes of child marriage Consequences of child marriage

tradition mother mortality

poverty divorce

illiteracy domestic violence
D. SENTENCE COMPLETION: (2 pts: 1 pt each)

1. ....for a woman/girl to stay unmarried 2...... demanded divorce / lost hope
E. WORD REFERENCE: (3pts; 1pt each)
1. child/under-age marriage / marriage to a minor 2. Morocco 3. parents
F.WORD MEANING: (2 pts: 1 pteach) 1.pain 2. demanded
G. THE WRITER’S ATTITUDE (1 pt) 3. the writer is against child marriage
Il. LANGUAGE (15 POINTYS)

A. GAP FILLING: (2 pts; 1 pt each) 1. rural 2. health
B. WORD FORM: (2 pts; 1 pteach) 1. violation 2. wealthy
C. VERB FORM : (2 pts: 1 pt each) 1. to start 2. raising

D. SENTENCE REWRITING: (3 pts: 1 pt each)
1. If Malika’s father hadn’t lost.... She wouldn’t have dropped..... 2. ...was offered..... 3...to change.....

E. GAP FILLING: (2 pts) 1. where 2. whose
F. MATCHING: (2 pts; 1 pt each) 1. d. complaining 2. a. expressing certainty.
G. RESPONDING TO SITUATIONS: (2 pts) Accept any correct and appropriate answer
. WRITING (10 POINTYS)
Scoring criteria Scores
Relevance of content to the tasks (3 pts)
Paragraph and composition organization (2 pts)
Appropriateness and variety of vocabulary (2 pts)
Accuracy of grammar (2 pts)
Mechanics (spelling, punctuation, capitalisation) (1 pt)
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